Ptaff
Metro Spezial 9346



Skezinl 9346

Bestandteileliste

_ist of spare parts
_iste de piéces détachees

_ista de piezas de repuesto

Nr, 296-12-14 836

dtsch. / engl. / fronz. fspon.  HD 8/85



Metro Spezial 7340
Vorwort - Foreword - Avant-propos - otas preliminares

Die Teile der Maschinen sind so abgebildet, wie sie funktionsmaBig in der Maschine montiert sind.

Dia Einranmungen auf den Bildseiten zeigen, aus welchen Einzeiteilen sich Baugruppen zusammensetzan.
Die Teils kénnen einzein oder auch als Baugruppen bestellt werden. Sind innerhalb einer Baugruppe Einzel-
teile nicht mit einer Nummer versenen, so kdnnen diesa einzeln auch nicht geliefert werden.

Bei der Bestellung von Ersatzteilen ist auler der Teilenummer unbedingt noch die Maschinenklasse und die

Unterklassa anzugaben.

The component parts of the machine are shown as they are functionally arranged in the machine.
Assembiies made up of several component parts are boxed in on the illustration pages.
The parts can be ordered singly or as an assembly. Unnumbered component parts of assemblies cannot be

supplied singly.
When ordering spare parts, pieasé indicate not only the part number, but alsc the machine class and subclass.

Les piéces de la machine sont présentées telles qu'elles sont montées dans 'a machine.

Las cadres dans les tableaux illustrés indiquent les piéces détachées formant des sous-groupes de pieces.

Las commandes peuvent porter sur des piéces détachédes seuies ou sur des sous-groupes de piéces. Les piéces
détachées d'un sous-groupe n'étant pas pourvues d’une référence ne sant pas livrables seules.

Las piezas estin jiustradas como funcionan en a maquina.

Los recuadros en las paginas ilustradas indican las piezas individuales de que se componen |os grupos.

Las piezas pueden pedirse individuaimente o por grupos. Si en un grupo de piezas hay piezas individuales
que no van provistas de un numero, entonces dichas piezas no pueden suministrarse individuaimenze.

En los pedidos de piezas de recambio es absolutamente necesario indicar, ademds det NS de pedido, la clase

de maquina v |a subclase.




M8 x 12 M3y 12
/ T6L 3-913 é 6L G-913
§346-110.51 E3 I 8746-110.71 |
A i _dh !
Y \l\ L ?Gt 831 |
0~ 28
/ e i 7oL 0-1 (AL B299)™
w 8345-110. 12 E3 (L) 5346-110. 33
1 .
T 8346-110.02 E21 i ; : §246-110.32 i :
i \ T
ohg—el- e e i
I “ 3346-110.09 5 ]
8346-110.07 * £ 3346-110,07 * M6xb6 )
Moxs = TGLO—SS‘I
T6L O~438 E2 (AL 5420)
§346-110.50 E3 §346~110.70
4 -
A 72 16L 2948 )
T / e O 5 8346-110. 3
s | |||#] 0D
w6
/ gGL 0—93*}» £, 4 -
AL 7283 160 0-125
- £346-110.03 EQ T6L 0-551 /1
(L 7794) e 5353)/
\ . |
) y L.
I I I e S
§345-110. 13 2
- B346=110.42 g M3 x 8 536-110.38
iix
oL 18 395 & o
\.-.L—-I L._J
_A 8 x 0,8 x 11,5
B346-110, 41 ToL 18395

* Bei [inzelbestellung nur paarweise mit B346~110.06 (Seite 5) lieferbar
yhen ordered separately, only available as pair with part 8346-110,06 (page 5)

- »

fn cas de commande separée, livrable uniquement per paire avec 13 piéce 8346-110.06 (page 5
En el case de pedidos separadas s0lo se suministra par pares con 12 pieza 8346-110.06 {pag. 5)

Frihere Ausfﬁhmntg in Ersatzfall wieder bestellen,
farlier version, t0 be re=ardered For replacement purposes.
ancisnte varsion, i commander § rouvesy pour achenge.

Tipo anterior, en casa de sustitucin pidase de nuevo.



?345—110308
AL 1903
BM4x6
~ T6L 085
(AL 1903)
/
B346-110. 22 =
Tl (
'-i! = '$'¢
‘ | G\
o 0
B346-110.23 B 8346=110.01 &
M0 x 4
8346~110. 24 6L 0.933 8 “TEL"CZ?
8345-170.01 8345-110.05 {4l 8192)
\
T
—
ﬁ 8346-110.53 Fiir Unterklasse /30
/ For subclass /30 -
Pour la sous~classe
B345-130.02 5 Para la subclase /30
; X
AL 9015 /2 _ el 0—238
O~ (AL 5416)
Mbx 10
g B e o
= ——F— T T
200/1-5 &j
ko 8346-110. 24 5L 0933 Bh9x3
\ . (AL 0364) 6L 07
{AL 8192)
8246~110.05 8345~170,01
L—l[_\

S——
B346=110. 52 Fir Unterklassen /10;-/20
For subclasses /10;—}20
Pour les sous-classes /10;=/20
Para las subclases /10;~/20
ERNEgipre Aesfibeumy fn Cren e e Ssttaent huroses.

Ancienoe version, d comsendsr 3 nouveau pour ‘change.
Tipn anterior, en caso de sustitwcidn picase de nueva.




FGr Unterklassen /10;=/20
For subclasses /10;—/20
Pour les sous-classes /10:—/20

Fir Ynterklasse /30
for subclass /30

pour la sous—classe /30

%%ﬁ- Para las subclases [10;=/20 §2"_El'_119_5.5_ Para la subclase /30
o5 " a0
1
{AL 1956) f AL 1956)
! | !
B346-110.06 * . %46-110.06 * \
| 200/7-3 : 200/7-4
] i
mMb
P - oo 6 0-a%
T6L 0—1F"EI T6L O~% - (L 7283)
.."’"—-_ 6’['
| T6L 0-125
! (AL 7794
200,45
T~ §%46=110. 21
e T T T —
: A
Ii Mbxb | il AGt 33_1
. ; T
i CN E‘ji g;‘% Il (AL B297)
| ;
| | f
| ] L
| 200,31 i
] ‘ T
! 1 200/3-2 'I /,
l ' .
' 5 x 25
! oo | oy LA
[ 5 x 24 6 i
O - v i PO
834611057
00/
'{;“' j —JII lr J(ﬁ r J
3 x 22
T6L 0~
{AL 8281)
-
8246=110.56

* Bei Finzelbestellung nur paarweise mit 8346~110.07 {Seite 3) lieferbar
when ordered separately, only available as pair with part 8346~110.07 (page 3)
£n cas de conmande separée, livrable uniguement par paire avec la pifce B346=110.07 {page 3}
£n el casa de pedidos separados sblo se suministra por pares con 1a pieza 8346=110.07 (pag. 3)

kel F riihers Ausfih im Eraatzfuil wieder Sestallen.
farlior varsion, 10 be re-ordersd for replacesent purposes.
Ancisnne varsion, 3 cosmander 3 nouyvss pour
Tipo nterior, e ceso de sustitucibn pidese de nuevo.



MG x 16
TGL 0—912\

e B 8346=120.02

TGL 0-934-5.8
5@-@—-——“{%

M6 \ 8346-120.03 .

6L 0-934 Ab ;

{AL 7283) oL 7403 |
8346120, 04

AN i

8346~110.26 8346-110.11 g346-120.01 EO

/ _ 8345-120.01
N 8346=110.27
451 8346-110.17
. % )
M6y 1z

i X ‘
T5L 0=316 834611013
20/2=3 200/2-3
[
M6 x30
MEx 30 T6L 0-653
T6L 0467 .
; M !
'S e i e
; Mbx18
4 - Py ‘F@@'@?‘ ToL =43 B
TN (AL S4h0)
8346-140.05 A 85611015
‘ R\ 8346~110.12 B M6 x 12 M6y 18
/ T6L 5683 6L 038
) ﬁa’i 22312 “i’-’/ . . T (AL sw0)
&\ 2
M6x25 U
M }3 x 75 834 6~100. b4 T6L 0=812 8346"_119.1‘1 8346=110.12 r% e ——dL 6‘9811_.!
TGL 0-427 !m-———-"‘“ 83
B e ——
B346-130.66
g
B346~110.58
b & E:"?'i‘::: ‘2:1::“"‘%; i Fremared :3:“:::":2:%:%«”%
ncienne version, 3 Moy ur

Tipo anterior, ¢ caso de sustitncibn pidas de nuevo.



6,4
TGL 0~125

M6
: (AL 779%)

6L 0435

(AL 7316)
“\:;{}”43§S/ /,

8346~300.01

12
8346110, 63 T6L 0=k71
(AL 9519)
.

lsose

200/79
8400 59521'
6L 28 7
tl bum
" ’
4
6y 12{7
18 1Y
porzellandse § 6 ‘69_
porcelain syelet
E illet en porcelaine go
Giete de porcelana g
- 6
6L 9-12%
j B345-300.02 (AL 779%)
o — & =
MO x 10
6L 0-85
(AL 1947)
=
8346110, 62

* fiir Unterklassen /103=/20
For subclasses /10;~/20
Pour les sous~classes /10;=/20
Para las subclases /10;=/20

- 200/7=1 !
' AL 7083
L2
v
B346-110.67

L 200/7-5

8345-170.02

ﬁ_:gtg =3

M8 x 24/12
{AL 2545)

T6L 0-934

M6 x 16
T6L 0-912

L~y
8346~110.60 *
8346-110.61 **

** Fir Unterklasse /30
For subclass /30
Pour la sous—classe /30
Para la subclase /30




200/2-14

AMS x 10
6L 051 B3 /200/2—11
BM5x 10
(AL 3542)
§346~120. 52 §346-120. 53
Lhgxat
N T6L 0=7
(AL 8148)
by 20 E3
6L 0=~7
4 M3 x 16/4
{AL 5741)
T 80,8 x5,5 x4 A |- 200/3=5 *
200/2-13 ToL 18 397 36 . o
- ~ 40,8 5,5 B346-120.51
~ T6L 18 397 B3 _
__BOBx9x254 T 200/3-5 3 =+
( T I6L 18 %97 ‘
- AD,8 x9x25
TGL 18 397 ER |B346-120.59 **
M3 x 16/k B M5 x 10
—— o 6L 0-85
r— _|("‘L 5141) (AL 1928)
: : ~
i 75 8346-120.06
l————-—— CM6x10
- T6L 0920
(AL 1956) SN 200/3-7
§346-120 8346120, 26
§346-140.09 ﬁm‘ g/
Elﬁ F| ~SEMSx 10
8346-140.51 | e Si|\ T6L 0-85
g MSx%
1
* rjr interklassen /10:=/30 Tl 0551 «* fiir Unterklasse /20
for subclasses /10; -/"{J AMhx 10 For subclass /20 ’
Pour les sous—classes /10;=/30 TGL 084 pour la sous=classe /20
sara las subclases /105=/30 (AL 115%) pare la subclase /20
8 0 £ e Ao L aete pursases.

Ancisme version, 1 comssnder ] HOUYsIu pour wchange,
Tipo anterior, en caso de sustitucion pidase de auevo,



BM4x10
T6L 5683
(AL 3154)

A

§346-120,57

LML x 0B
1oL 5683

5346—140 10

X J&:F—'

200/4-9
§346~140.08 /EP' ?—
pMé
T6L 0=43%9
(aL 73%)
¢ 11 x 5,5
B346-110,04E3 T6L 18 39581 i- ''''''''' —'|
§346~140.04 80,8 x 8 x55 361202 -
/| T6L 18/395 / | | g o
Mhx1
.#' — T — _“%"——_'i — =g ’ T6L O=hbh
2004 ! |
} _‘ ?_;) | .l
’.b; M6 x 13,1/8
5 ' o (AL 2504
|
43 200/3-15
BMLx6 1 j;[/
T6L 0-125 M6 10
T6L 0-85 i g_g
(AL 1903) (L miO) <€ ? %_; (At 191.?)
§346-120.23 l - 834613002
i
AMS x 14 200/313
2 x 14 E2 AML x thEQ |
ToL 0=7 /TGL 5683 — (aL 3170) | -
x L
Smboxth b g 1h Tol sez»sza/‘B e -
Gt 615 oL 2 B 4 TeL 043 || AMbx 18
(L BQE 1 (AL 3163 T6L 0-7W3 ¢y 7345) T6L 084
{AL 1157 a)
— 200/3-8
-
§346-120.56 §346-120.55

-Fruhera Ausfuhrung & ip Ersatzfall vieder hestellen.
0 be

Earliar version,

re=grcared far reolacesent ourposes.

Ancisnne version, i comsender i nouvesu pbur fichange.
Tipo anterior, en case da systitucifa pidase ds nuewa.



M5 x 12

3,2
@"_ T6L 6799 T6L 0-312
; 8004 1011
L 8008 0836
8008 0809

993
T6L 0-125
(AL 7792)

9 x 12 xhy5

- (AL 7051)
AL 7127 ).‘/ 8%46=-120. 71

8346-120, 58 N 200/2-18 3,2
T6L 679
B346-140,52 TSH3kp 19
- = {aL 2796)
(oL 7550
(AL 598
ps 0152
|
B 2995 &
—200/6-5 £ \
- '3 M6« 3345
200/6-4 Méx 16 _ (AL 2529
ToL 0-912

. oo
@— 200/6-3 E"/@_" N 20/

L

8346~140. 50
.
: B M 84
~ TGL 0-84 834512022 * *
. (AL 1134 b)
33614053 1
) &
?AL 1982) / Y B346-120.14 *
] ) . ’ . 8346-120,15 **
K™ g346=140.06 * Fir Unterklassen /10;=/20
B M2,5%5 For subclasses /10;~ Zf} /
T6L 0-85 Pour les sous—classes [10;=/20
EMh4x8 B346-140. 14 / System 81 Nm 120 para las subclases /10;=/20
T6L 0-85 — T6L 6233
CAL,_1905) - .
: ~ Faapon System 88 Nm 150 ** Fir Unterklasse /30
= —L5 J.é_ Tot o705 | 7oL 6233 For subclass /30
. —< Pour la sous~classe /30
834614011 B461~3.110 £ para la subclase /30

rrihon ausfOhrung, in Ersatzfall wiedsr Destallen.
Eyelier version, o be re-ordered for replaceseat purposes.
Ancienne varsion, 4 der i paur &
Tipo anterior, et caso de sustitucifn pidese de nueva.

10

b




§345-180.12 * AM25x5
G0 e 605 @
Aok * * *
2h6xb 8345~180. t4 200/7-15 ** (AL 3128) * [ *x fr==
16L 0-7E3 200/7/-15 =

shoxb 1] ! 3 h

T4 0 _ __#. : , /I\

(AL 8 i / :

. ; AM2,5x%5 SBA M 2,525
Ly T6L 5683 1| et sBe3 /- — i
_ (AL 3128) #*= ‘? ; / /
AM ' } x B,8/8,2
Tot = y G 35S
(AL 1172) @ /
AL 8385 _@_ S
e b || TR
T6L 084 ~ . 851!6—130: 18 =+
BMZxh \
6L 0-85 200/8-1
(AL 1863) ’
B346~130.06 *
| 8346-130.07 **
1 8346-130.08 ***
L ox 18
T6L 0-1472
N\
— ]
.@, 8
W6 x 16
T6L 0912 i
ghnz 2806 * 200/7-12 = [ **
Bh02 2807 ** T _‘_B 200/7~13 **=
8407 2808 *** R Lt
8400 2852 *
8400 2851 ** [ ***
L
8400 3322 * 840z 2878
8L00 332k ** —
BLOO T2 ¥
h A3
8346—130.50 *
8346~130,51 **
§346-130,52 *=*

* Fir lnterklasse /10 =* rir Unterklasse /20 wex roe Interklasse [30
For subclass /10 For subclass /20 for subclass /30
Pour la sous—classe /10 Pour la sous—classe [20 Pour la sous-classe /30
para 12 subclase /10 Para la subclase /20 Pars la svbclase /30

Frihere Ausfﬁhrun%a im Ersatzfall wieder bestellen.
Earlier version, to be re-ordered for replacenent purposes.
Ancienne version, 7 comsander & nouveau pour tehange.

Tipo anterior, en ceso de sustitucifn pidsse de nuevo.



BMSx G

ToL 085
P — Bl 0471 — BME 8346-150. 10
(AL 9517) /EGL Mgg 7 .
+ AL 731
¥ TGL 4512612 /_B.B_If-j.sf'_a_q -

S + 4

i
£346-150.01

c+3 /F ' !3342:150. 65 * |

8 .66 * |
Ms/ L BNE L 63 aiﬁeiggﬁg - \
5L 0-93h $ '

BMSx 10

TGL C-85 33332:12814 *
) 8346150, 15 *

200/9-1~g——p 8346-150. 16 **

8400 56554 I
TGL 26 764 l 83#6—1%&
. 48 $\|

6

8346=150.52 E3 290/8-19 *
- 8400 3322
8 0/8-20 *
7 I6L 0478 A
AL 7315 8345-190,02 (AL 9517} M6& x 11!{6 "
(AL 2502 200/8-21
/ /- 8400 3321
_e_ — - .@ s @ M 1' X 16
% ToL O-h6h
§345-190,03 o @ , @ 8346150, 11
] AN
8345190, 0 AL 7791 :
m ~10.01 ? B246~150. 20 l
_8345-190.09 * [
ﬁ} 8345190, 10 ** '
3,2
T6L 0-125
{AL 7789)
160 0-84 ‘
(AL 1428)
—~—
834615050 * E3 AT46-150.01 *
8346150, 62 *
B346-150,51 ** E3 Sl 10.03 **

* FGr Unterklassen [10;=f20 ** Figr Unterklas;e 5]
For subclass /30

For subclasses /10-—/
Pour les sous—classes fo-f20 Pour la sous-classe /30
para las subclases /10-—/20 Para 1a subclase f30

12 Frihers lusfuhrung jm Ersatzfall wieder bestellen.
tarlier varsion, to be re-ordered for replacement purposes.

Ancisnne varsion, i comsander & rouvesy pour echange.

Tipo anterior, en casc de sustituciGn pidase de nuevo.



B M8
T6L 4%
(AL 7316 a)
N 8346-210.03
{#, \ |
A 13 8346210, 06 I
ToL 39802 / 1 B346-210.02
& " E
PFG? 0_?/ ' ToL 2081 ' 15 % 1
z Tal O=4M
(AL 7285) ? | game-210.07 (AL 9521\)
| |l B {(on-BE $
§346-210. 15 E3 = K }H o
\ N B%B— 10-1!1 6002 1 ‘\._
IE‘EE M6 x 10 A5 x5 x16
{_ - . ToL 2981 EG[ gggg T6L 9500
AL
§346-210. 16 + '&E 3_;?2 — .
; T
T L
M8 ;
T6L =94
(aL 7285) 8346-210.52 * = =i
A 13 10,5 : ‘
T6L %802 - (rgt %Sgg B346-210.07 €3
v —
§346-210.51 * M10 x 30
A Tt 0601
(AL 363)

* fir Unterklassen [13; /23 /33 ** fir Unterklassen [Thse/24:—/34
For subclasses /133 / For subclasses [1bj=/2ks~/34
Pour les sous-classes /13 -/23 -/33 bour les sous—classes /11' - 2k —/3
Pars las subclases /13; 235133 Para las subclases [14; ‘/2‘* /5

8346-220.51 **
y N
_ §346-210.03
MAI MO x10
e S Y e
AL 5438
6002
! T6L 2981
5x1 €002 §346-220.02
T6L 0471 ToL 2981 I} ]
{aL 9521)
, K /’\ 834621007
m . D Hail —
I RN/
¥ A5 x5 x1b
RN | T6L 9500
B346~210.02 ' yk
/
—— e 5 %1
i\ ?ﬁt 551 8346~210,04 E3 TGL 0-1.7
v\ (AL 8295)

30|

Friihers Ausfuhrung im [rsatzfall wisder bestellen,

Earlier version, to be re—ordered for rephcenent purposes.
Ancienne version, 3 commander 3 nouvesy pour changs.

1ipe anterior, en caso de sustitecibn pidase de nueve.

13



l §346-210.01 A 3_’}46—?0.01 B [
| / L
i ) §346-210.50 *
! | 8346~220. 04
|| = > ju 8
i : T6L 0-034
. 1(AL 7285) TG!. 0-125
|1 2 | (AL 7797)
H = ] ﬁ
1 ! 4
; MEBx20
: : t L—'_'_‘—I T6L 0-033
l : L (L 352)
] |
M1Zx B0 r—- T 8346-210.08 I
oL oot ||
%—@— L= - - ?+—}- E:} |
M 12 | 5 x 40 .
ol 003 8346-210.05 161 0=1 ?Gf 32_1 l
(AL 7288) | (AL 8315) — (AL 8313) ]
| U i |
I C. % o :
: h 4
850
et 2 8346-220,50 *+/ ++=
sk
*k Endloser Rundriemen
“,,.‘ . . - EF"{! Endless round belt
Courroie ronde sans fin
§ 63 : Correa redonda sin fin
3 ~ g8 x 1310 *
ik 132/ T6L 11 855 #8 x 0% * B
0,25 kw q_,_ 28 x 1510 ==
2206380 v M8 x 2 -
1500 1/min. oL (—601 ¢ 8 x 1310
(M.lel') - @ 8 x 2030 e
8,4 88 x 1510 *
TGL =125 —=.
(AL 7797)
oy *44x  [ir Unterklassen 17;- /27-- /37
= 161 06797 For subclasses /17;= 275= /37
Pour las sous—classes /17-- fe15= /37
Para las subclases [17;- }27 = /37
* fir Unterklassen /13;-/23:=/33 ** Fir Unterklassen /th;=/24:=/34 #+= eilriemen 10 x 6 x 850
For subclasses /13 —/23 /33 For subclasses [1b; -/24 -/3" Wwhelt 10 x 6 x 850
Pour las sous-classes /13 +=/23;-/33  Pour las sous—classes /1‘v—/2'¢ =34 Courrgie trapezoldaie 10 x 6 x 850
Para las subclases /13-—/23 -/33 Para las subclases /14--/2‘0 -/34 Correa trapezoidal 10 x 6 x 850
14 30 PRl b 'f'i:df:p'f:ﬁf.'lzli"purm.s.

Antienne version, § comsander § nouves pour Schunge.
Tipo anterior, en caso de sustitucidn pidese de nueve.



M0 x 16

TGL 5683
M8 x5 B346-210.04 (AL 3210)
T6L 0931 . —
(AL H8) $
Ay ﬂ
8,k > ’y
T 0125 ! —@"
(AL 7797) ' 7 T
— 8346-210, 11
" B /Gt!) ' 33‘05—2291
T6L 0-93% ] ' I é§;j==3}
(AL 7285) 8461-5.233
ol M6 x 13/9
o (AL 2503)
S’
)
§346-210.10 [ J
i 1,8
TGL 4738
M0 x 3B s—
T6L 0912 | Lo
o l 21
. e
105 ».L ! —
6L =125 i I
(AL 7800)
83%6-210.13 oA
# 1,8
]
| .
M o PP
T6L 0-551
1 ﬁ {aL 5452) N 2116
; e -
- + . ] 8346-220.52
_“' . Aok
aad ~
PG 11 *  Fir Unterklassen /143~ [2b;- /34
TGL 10 492 For subclasses [1hs= [2hs— [34
. ) Pour les sous—classes /14;— 2= /3
ig’LSD—Wg“‘%— f —,! : Para las subclases [1b;~ [2h;- )34
AL 7800 *  fir Unterklasse /173 /274 /37
For subclasses /17;- /2?;-,- /37
e Pour les sous—classes /17;~ f27:;= /37
M x D Para las subclases f17; 72?;— 737
6L 0912
*s  fnotenkette 1,8 TGL &738; 7 Glieder
fnotted chain 1.8 TGL 4738; 7 sections
Chalne 3 noeuds 1,8 TGL 4738; 7 maeillons
8346-210.09 Cadena de eslabones anvados 1,8 TGL 4738; 7 eslabones
\
S xsex  notenkette 1,8 TGL 4738; 13 Glieder
Knotted chain 1.8 TGL 47385 13 sections

Cheine 3 noeud 1,8 TGL 4738; 13 maillons
Cadena de eslabones anudades 1.8 TGL 4738; 13 eslabones

15



//,——F—____T_______;:_——4—-‘—’“"E:%:fL_"“‘1‘—‘——-—-—————+-—~___
T *+ L
. ' === ' ]
} T T *‘* T T __.....,.__'
e O

V
*Fir Unterklasse%/‘l'?;? /2?;7343? -
for subclasses [17;— /275
pour les sous=classes [17;- [27:- /37 83:6-230.01

Para las subclases [17;- /275 J31 §346~210.19

AME w10
T6L 5683 E3 \ﬁ
! *  Fiir Unterklassen [13;- /231 /33

Ak _— _@_ For subclasses /13- [23= /33
TGL 71 705 E3 pour les sous~claSses /1%-- [23:- /33
) Para las subclases /13;- 723;— 733

, 8,k
8346-210.12 £ M8 x5 : T6L 0934
oS gy LT iRl
i 4 |
ﬁ
AMS x? . . i |
ToL 5663 E2 S T g346-400.01
AM5 x 16 ' \(F
o 56?.7 Iwillingsstutzen
willingsstutze
: — (L % 5.) M5 033 - Twin muff
T6L AMex Manchon double
afn/(AL 7281) TG 0-B4 Manguito doble 6 Mhx 10 o
| (AL 1153) 250, 6b. 1 h.+ 2ot 0-84
' , , 50. 8%, L 0-85
- ¢ —= T6L 35}30 (AL 190%)

o] +* -
b4y

!
g346-210.21

17 8346-220.03

= frinere Ausfihrung, Im Ersatzfall wieder bestellen.
16 E::"liur v:rslnn, %5 be re~ardered for uplne,cnl purposes.
Ancienne version, # d vew paur hang
Tipo anterlor, en cuso de sustitucidn pidese de nuevo.




a

|~

——£176.002/7

Motorkondensater
Motor condenser
Condensateur de moteur
Candensador del motor

Wechselstromausfiihrung

he C. version

Mogéle pour courant alternatif
Modelo para corriente slterna.

Drenstromausfihrung (380 W)

0. C. version

Mod®le pour courant triphase
Modelo para corriente trifésica

L~ kabel / Schalter — Motor
= - —" == gord / plug motor
£ablé interrupteur — moteur
Cable para el interruptor del motor
kabel [ Stecker = Motor / B346-220.05
tord / plug motor (WY wHY-J b % 0,75 Cu)
Cablé fiche — moteur
Cable para enchufe del motor \
§346~220.06
(NYMHY =0 & x0,75 Cu) i — =k e e
v
ok / Hokk

prehstonausfihrung (220 V )

0. C. version

Modéle pour courant triphast
Modelo para corriente trifasica

__A

\_—-&T::P

2

~~6170.002/4

6170.0@2/5"/,

25 uF 220 v
TGL 10 589 =
L B345-220,08 -
P ° Hupplungskragenstecker
e Kupplungsstecker ] Coupling plug with shroud ——m |
+ Coupler plug | Fiche d'accouplement 3 encolure
Fiche d'accouplement Enchufe de acoplamiento con
Enchufe de acoplamiento ¥ collarin protector.
R0V Hr. 22141.5
Nr. 22091.12/% TGL 200.3755
h 4 v
o / *Aek *% / freen *h / E

Fir Unterklassen /1h;= [2hs= [3h
For subclasses /14— f2hs— [34

Pour les sous—classes /11:;- fehs= f3b
Para las subclases [14;= /243 /3t

kK

Fir Unterklassen /175~ /275~ /37

For subclasses [17:= [2T3= /37

pour les sous—classes [17;= [275= /37
para las subclases [17;= [273= /37

L



200/12-1

6
~ T6L 48-43215

& 172/30 oo
-~

Olkanne
0il can
Burette d'Huile
Alcuza

A

>
~~ T6L 4843215

1174/55 ma

....... " tir. 611.82.601

@ - M. 858 1)

13/47
7 160 4873109

q

..,,\ o7
: S

8345-130.01

18



8346-300.02
@/

0308.5

M4
2x 15 5L 0=03h
ot 265720 Z‘L ) (At 7293) 200/13-9
(AL 3578) "™

=L

%Ex & FLG4?
o 30\) A\L 7794)
“e=>-@
: M6
ToL 0-934
'¢-~-¢-"— -l (AL 7283)
S
L —
4 ¢ \ 8345400, 07

8345-400. 04

\

8345-400,02 *

§3h5-400,03 **

———
8 .01

* fur Unterklassen /10;-/20

For subclasses /10; -/20

Pour les sous-classes [10;=/20
Para las subclases /10-/20

ei Bestellung ArmgriBe angeben

Indxcate length of arm on orders

Preciser 1a longueur du bras 3 la commande
Indiquese 1a largura del brazo en los pedidos

** rir Unterklasse /30
For subclass /30
pour la sous-classe /30
para la subclase /30

18



